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Introduction to nana wy»— wywn 79

We have touched on fnna 1wyp several times during the first 8 chapters as there are numerous points of intersection and commanlity
between 10 702 Ma2and 7wn2 1wy this 739 1s devoted fully to the topic — see the first verse below.
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I xmwn: application of 2"yn
a  Applies: globally (5"m »"R) at all times (n’an »192 X5w/701), but only to P9,
b  Animals: applies to flock and herd, but they cannot be mixed; however, goats and sheep may be mixed
¢ Timing: applies to animals born in earlier years as well as newborns — but they may not be mixed
i Counter: reasoning which would argue in favor of allowing mixing:
1 If: y9n v, which may be mated, can be mingled for 2"yn
2 Then certainly: sheep and goats, which may not be mated (n’x%3) may not be mingled for 2”yn
ii ~ Therefore: v. 1 uses |R¥) — teaching that the entire flock (sheep and goats) are one “kind” for 2”yn
II  Analysis
a  Global application: apparently runs counter to ™, who, interpreting n3>nwyn (v. 2) read this as w”yn and 2”yn
i Just as: w"yn cannot be brought from 5", similarly 2”yn cannot be brought up from %"n
ii  Rejection: y"™ could agree with our mwn; he rejects bringing offering from %" (per v. 2), but it is v11p
iii Question: if so, what is the impact of its nw1Tp?
1 Answer: that it may not be eaten without a
b Application at all times: (background — they no longer practiced 12”yn) — why not today?
i Answerl (817 .37): precaution against a ;i (animal born after mother’s death) — which is 1108
1 Challenge: if so, they should have stopped the practice in the earlier times
2 Answer: in those days, they could have announced the rule of ;1 and people wouldn’t have included it
(a) Block: in our day, we could do the same
ii  Answer2 (727): due to n9pn (people may eat it before it gets a D)
1 Support (8117773): we do not allow 0237 ,wTpn or 0N in our day
(a) If: someone did so, animals are killed (indirectly), clothing etc. is left to rot and metals — to nonn o
2 Challenge: if so, we should practice the same with m1121 in our day
(a) Block: 121 nwyTp is not up to us — it is yoan vITP
(b) Rather: challenge was — we should make a non-Jew a partner in every m121 (e.g. the ear) to exempt
(c) Answer: there is another solution — you could (per N1’ 27) make the 7131 into a n”ya during delivery
(i) Challenge: if so, let’s use this solution for 2”yn —
1. Challenge: he won’t know which will come out first
2. Proposal: set up the ommn first
a. Block: v. 1 disallows such “planning” (7p2’ RY)
3. Rather: he could make a mn on the entire flock in advance
a.  Answer: if so, when the wTpn is rebuilt, we won’t have any nm>nn left!
b.  Challenge: same should apply to mm22
i.  Answer: we could offer non-m131 (PVIVY)
ii. Counter: with 2”yn, we could also offer pmp% (which are exempt from 2"yn)
iii. Defense: if most of the animals are onmn, and there are natural wmmn that occur —
won't be any left >that’s not a solution for 2”yn
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¢ Exclusion of pw1710: seems obvious — since he doesn’t own the animal
i Answer: in case of %P DWTP (DNYV) per 3”1, who holds that Y"pTp are owned by 09y3, per v. 3
ii  Querstion: if so, why aren’t they included in 2”yn?
1 Answer: v.1-wnp i — excluding that which is already wmp
2 Challenge: how could n%p nw1Tp (2”Yn) take effect on NHp NVITP (DNYW), if even NN NWITP cannot do so?
(a) Background: »:1 nmnn — 1”771 >wTp cannot be “upgraded” to nam »w1p (i.e. ~[N%p NWITP D> nNNN IVITP] )
(b) Answer: in that case, not every animal is slated for nam; here, all animals are slated for 2”yn
(c) Therefore: we might have thought that 0’>p ©wTp are included in 2”yn - 9"np they aren’t (from wnp )
d  Mixture of flock vs separation of jw» w7m. counter-argument — 1w wn should be able to be mingled for 2”yn
i If: sheep and goats, which may not be mated, are mingled for 2”yn
ii  Then certainly: 79y wIn, which may be mated, may be taken together as 2”yn
1 Answer: v. 4 9wyn 7wy alludes to 2 mwyn — v”yn and 2”yn and they are compared via juxtaposition
(a) Just as: w"yn may not be taken from one year’s crop for another’s
(b) Similarly: 2yn must all be from same year
2 Reductio: via that same comparison, sheep and goats should not be able to be mingled for 2”yn
(a) Block: 18y (v. 1) extends to make all flock one grouping for a”yn
(b) Reductio: comparison can now be turned inside-out and jw» w7n should be able to be mingled
(i) Block: 7wyn 7wy compares 1"yn to v'yn
(if) Explanation: v. 4 marks off mw mw — only for issue of “years” are they compared in this direction
iii ~Tangent: source for not taking nm N from wn Wwrw 5 Pn (which is basis of above argument) — T:2 nMMIN
1 S7awyonr 7 v. 5—extra word a%n indicates “give the a9n (finest) of each of 91y’ and vy vn and 7”7
(a) We see: that 9n¥» wy1n (wine and oil; i.e. grapes and olives) may not be taken for each other
(b) How do we know: that wine/grain or grain/grain (barley and wheat) cannot be taken for each other?
(i) Answer:y'p —if grapes and olives, which may be planted in proximity, are separate for n”»n
1. Then certainly: barley and wheat, which may not be planted in proximity (y1 '8%2)
2. And: wheat with grapes, which are 0130 '8%> — must be taken separately
a.  Challenge: according to mwr> "1 (which is n3%n), no 0130 *RY3 without wheat, barley and
grape seed in one seedpod — what is the source?
b. Answer: if 1% w1n, which aren’t D&Y3 even with an additional 3" must be taken separately
c.  Then certainly: wheat and barley, which are wx% if a 3 is added, are taken separately
3. Question: how do we know to apply this to any 2 species (which are 0”1 n"1na 1»n)?
a. Answer: everything 1321 enacted was based on 11 n PT (PPN RNPNRT PP 1327 PPNT YI)
(if) Challenge (to »7ax): then 2"yn, where we have no textual separation (as we do in re: n"yn) - for in-
stance 18X 7WYN 1p1 MWYnN — we should be able to ming]le all of them (b/ovines)
1. Answer: »wyn (v. 1) — each (of 92 and 1x¥) gets his own “tenth”
2. Challenge: then we should have to separate goats and sheep separately
a.  Answer: 18¥ (v. 1) joins them as one
b.  Challenge: in v. 5, all 137 should be one, and barley and wheat should be able to be mixed
c.  Answerl (»7an—also &p5% *7): v. 5 — onwR1 is plural - separate o7
d. Answer2 (X37): no need for nwr1 — still can’t argue that all 137 is one:

i.  jn¥r teaches that goats and sheep are one, if we thought that they must be taken
separately, it could have stated nnna Ywyn (we wouldn’t have errantly included nvn,
as we infer via nnn::nnn from v'w1p that only mnna are included in 2”yn);

ii. And: we would have inferred, via our v’p from jw/97n, that each species must be
taken separately; the nn wrote 18¥) 9p2 to only separate flock from herd

iii. But: here, the nmn had no available word besides 137 to write >not singular

iv. Challenge: perhaps if it said nnna it would have allowed mingling flock/herd?

v. Answer: X217 accepts *1wyn — must be multiple groups (at least two distinct groups)

e. Answer2 (837-alternate):without »wyn we couldn’t suggest that flock and herd are one

i.  Reason: 11 9wyn is compared to 2"yn — must be separate 10 for nwI9n

ii. Challenge: X211 is the one who claimed that the comparison is only for mw mw

iii. Amswerl: 8171 changed his mind about that and allowed for expansion of 1wyn vy

iv. Answer2: that last argument was presented by his student, 8, not by x11
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